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Description Amount | Dfﬁm—"f revenues
Selling price $ 30 Sales commission a3 %
| Variable cost of goods sold $21 Income tax rate
Fixed manufacturing costs - | $1.200000 |
| Fixed marketing costs | £300000 | o ————
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Q4 (3 pts) A manufacturing company reports the following information for two products; standard and flexible:

. oy ‘ Description Standard Flex_ible Total _I l
Units sold 187,500 62,500 e I
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Assuming that the company achieves its planned sales mix, calculate;
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Cost Accounting (Midterm Exam 30 %) Instructor: Prof. Abbas Al-Refaie
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how much the operating income will increase? Wi




